AnroMmMHuMM

B5 B14
n; i P1M MzM fs Pir Mar B C D E F (@] P Q R T U ﬂ
[min] (kW] | [Nm] kW] | [Nm] ﬁﬂ 100 100 RD
63 71" 80* 90* 45| 56 63 71 80 90 435 Ko nepe.
302A n;= 1400 min™
407 | 344 |15 | 34 | 15| 22 | 50 | 20 B e | € 96 | 2821
327 428 15 42 12| 18 | 50 | 20 B c|c 9 | 2818
257 | 545 15 54 | 09 | 14 | 50 | 20 B GG 9 | 2815 @
225 | 623 15 61 11| 17 | 70 | 20 B c|c 96 | 1021
194 | 720 15 71 |10 15 70 | 20 B c|c 96 | 2812
181 | 774 15 76 | 14 16 | 80 | 20 B c|c 96 | 1918
142 | 985 15 97 |10 15 95 | 20 B GG 9 | 1915 @
123 1142 15 112 10 15 115 | 20 B c|c 96 | 1715
107 [13.03 11 | 94 12 13 | 114 | 20 B c | c 96 | 1912
93 1510 1.1 109 1.0 | 12 | 114 | 20 B GG 9% | 1712 e
8 |16.20 075 80 1.3 | 1.0 | 107 | 20 B c|c 96 | 1910
75 |18.78 075 92 12 | 087 | 107 | 20 B c|c 96 | 1710
66 | 2115 075 104 1.1 | 082 | 114 | 20 B GG 9% | 132 e
64 | 21.84 075 107 1.1 | 083 | 119 | 20 B c|c 9 | 1015
53 | 26.31 055 95 1.1 | 062 | 107 | 20 B c | c 96 | 1310
485 28.88 | 0.55 104 | 1.1  0.60 | 114 | 20 B GG 9% | 1012 @
39.0 | 35.91 0.37 87 12 | 046 | 107 | 20 B c | c 96 | 1010
371 | 37.69 037 91 1.1 | 041 | 102 | 20 B GG 9% | 92 @
20.9 | 46.87 0.37 114 09 | 0.35 | 107 | 20 B c|c 9 | o910
281 | 49.76 025 81 12 | 031 | 101 | 20 B GG % | 112 e
226 | 61.89 025 101 1.1 | 026 | 107 | 20 B c|c 9% | 710

* B MOHTaXHOW no3vummn P MOTOpHEI chnaHel, B5 MoxeT He cooTBeTcTBOBaTL pa3mepam. [poBepbTe pa3Mepbl U N0 BO3MOXHOCTU UCNONb3yinTe dnaHew B14.
In the P mounting the B5 motor flange can exceed the foot maximum dimensions. Check on the dimensions and possibly use the flange B14.
Der Motoreingangsflansch in B5 kann grufer sein als die Getriebefbfle. In diesem Falle sollte ein B-14 Flansch genommen werden.
Lors d'un montage en forme P la bride peut diipasser des pattes. Viirifier dans les tableaux des dimensions et utiliser si possible une bride B14.
En el montaje P la brida puede exceder de les dimensiones m6ximas de las patas. Verificar en los esquemas dimensionales, asm como la posibilidad de usar la brida B14.

B.C Bo3MOXHblE MOTOPHble hnaHLbl B MOHTUpYIOTCS C NPOCTaBKOW @ © Monoxexue OTBEPCTU/ MOTOPHOTO @
AZRE

Motor flange available Coupling by means of reduction bushing ﬁg?oﬂ'%zgsg%gn%gﬁal box position




302A PA3MEPDbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES

40 N°4 - M8x14 26

3,30 A
6 rd%
Te]
P302A-N ©- | _ — 1| © . =
g 2 & s
RN 6.5/
M8x19 90
BobixogHou dnaHew / Output flange
Detail Y F k1 =
; ‘ | a1@| 1] et]ct | f[st
120 80 100 11.5 3 9
s 140 95 115 11.5 3 9%
P302A-F =l g | ‘ 160 | 110 | 130 | 115 | 35 | o«
® e 200 130 166 11.5 3.5 1%
= t* [NonoxeHune oteepcTuin / Holes position
Detail Y 35 M i
i 36.5| | ¢t
D20 16 (Crannerr) oB . Cranpapt |2 20x40
bIXoAHOW Ban Mo 3anpocy | & 14x30 & 16x40
1;’* @ Output shaft onrequest | o 25450
143.5
Macca (kr) c ¢onaHuem 3.5
L35, Macca (kr) c nanamu 4.0
% 30|25 6
R302A-N g C—f——] i
= Q
) -
hy N
Q
M6x16

* A 4“ | 85 45
40 131.5 ‘ ‘ 3.5 Tun 202A (MOTOpHbIE dnaHLbl)
3,30 | ‘ - quf.‘;‘;ﬁ‘:.e A |Cmax| g6 | k1

. e © 71 B14] 1495 | 152.5 | 105 | 1592
P302A {} _ _ ©| & B D\ 80 B14 [ 1505 | 160 | 120 [160.2
g © S - 90 B14[1515 | 170 | 140 | 1612
:i,’- g Q &) T T 63 B5 |151.5 | 170 [ 140 [161.2
U P M m 71B5 | 1495 | 180 | 160 | 159.2
M8x19 T I K I i [T 80/90 B5] 151.5 | 200 200 | 161.2

Gl L] el " o R

L o S

Bbl HanioeTe koAbl B Tabnmuax
HaMpOTMB HY>XHbIX pa3aMepoB

Bo3moxHble pa3mepsbl nan / Available feet dimensions

Market G | H R L L1l s [H1| olal S.Z . BflsarTzX |:> Checking the main qlmensmns
il g (G -H -R-L) you will find
18 | 85 | 110 | 87 | 50 | 130 | 125 | 15 | 9 |15 aoeoes the codes (S1 - B1 - etc.)
18 | 100 | 130 | 1075 | 60 | 155 | 145 | 5 | 11 |3.5 goaoes of your need.
18 | 75 | 110 | 110 | 50 | 130 |1155| 15 | 9 | 5  71gs| 7188
25 | 90 | 110 | 130 130 5|9 Mo
03 L3 [125 | &5 | o1 60 105 | 149 | 5 | 9 [315 800085 0 Magsfg?plolg'ntﬂp:;: el
04 La | 13 [ s [ 105 | 76 132 | 165 | 5 | 9 [165 0085 y




